o_data =

Ze_tot (C,_gata-f) =1|C
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C

o_data

f

f
n«[0 0 0 0]

s<—2-7‘r-\/—_1-

forz € 0..rows

o_data :
STUDitsOf (C.y_gara)

-
SIUnitsOf(f)

f
<Cofdata> -1

n <« stack (n , [Co_dam (z ) 2)

fow:=(6.66-107)

1

Cofdata (Z ) 0)

w |~

Co data(i:3) 1])

n «— submatrix (n ,1,rows (n) —1,0,cols (n) - 1)
m <« submatrix (n ,0,rows (n) —1,0,cols (n) — 2)

results «— |m.

return results
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Z C_tOt <Co_data ’ sw> =

[0.002 1-

0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07
0.07

e e e S e e = T W G Syt
N L s e e B e e e e I B
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.lo—w'
L1070
L1071
L1070
L1010
L1010
L1071
L1070
L1070
L1070
L1010
L1010
L1071
L1070
L1070
L1071
L1010

[ 498.175—30.1514 |

NaN +NaNi
1.144+43.87T1
9.961 +6.56317
1.14443.87T2
1.14443.87T2
1.14443.87T2
1.14443.87T2
1.144+43.8772
1.144+43.8772
1.144+43.87T1
1.144+3.87T1
1.14443.87T1
1.14443.87T2
1.14443.87T¢
1.14443.87T¢
1.144+43.8772
1.144+43.8771 |

1
ss:=| —(2.39i-1077)
4.185i+10°

M +SS=

[0.002+1.217-107*]

NaN +NaNi
0.07—-0.2372
0.07—0.0462
0.07—-0.2372
0.07—-0.2372
0.07—-0.2372
0.07—-0.2372
0.07—-0.2372
0.07—-0.2372
0.07—-0.2372
0.07—-0.23T2
0.07—-0.2372
0.07—-0.2372
0.07—0.2372
0.07—-0.2372
0.07—-0.2372

| 1+4.1853-10°




0.002+1.21¢-107*
0.07—0.237i
0.07—0.237i
0.07—0.046i
0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i
<SST.TnT>T 0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i
0.07—0.237i

| 1+4.1853-10°




